MARKET STERS

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

Emmons, Brayden

Number	Last	First	KUIP	Weigh t	\$/#	Total	Buy Back Price	Buyer
1-0152	Emmons	Brayden	840003 252469 403	1445	\$3.75	\$5,418.75	\$1.75	Peoples Bank, S&B Cattle Co, A.W. Graham Lumber, Farmers Stockyards & Restaurant, Bluegrass Stockyards East

Peoples Bank PO Box 367 Flemingsburg KY 41041 S&B Cattle Co 4561 Iron Works Pk, Ste. 190 Lexington KY 40511 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Farmers Stockyards & Restaurant PO Box 308 Flemingsburg KY 41041 Bluegrass Stockyards East PO Box 765 Mt Sterling KY 40353

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

Stamm, Brantley

Number	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
2-0153	Stamm	Brantley	840003234924851	1055	\$2.75	\$2,901.25	\$1.75	Community Trust Bank, Robert L. Conley Livestock, Jill Price Dentistry, IFM, Fleming Mason Energy, Boone- Nickell Funeral Home, Hardy Oil, Fleming County Hospital, McFarland Chevrolet Inc, V&V Catering, Stonegate Rentals, Riverside Plastics, C. Clark Storage

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041

Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324

Jill Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041

IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039

Fleming Mason Energy PO Box 328 Flemingsburg KY 41041

Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041

Hardy Oil P O Box 507 Irvine KY 40336

Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041

McFarland Chevrolet Inc PO Box 814 Maysville KY 41056

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

Stonegate Rentals 148 Meadowbrook Ct Flemingsburg KY 41041

Riverside Plastics PO Box 421 Flemingsburg KY 41041

C. Clark Storage Cole Clark 640 W Water St Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Smith, Annabelle

Number	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
3-0154	Smith	Annabelle	840003234924851	1125	\$2.75	\$3,093.75	\$1.75	Camargo Transmission

Camargo Transmission 2355 Camargo Rd Mt Sterling KY 40353

Thank You Cards received by FCEO: Staff Initials:	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Watson, Harlee

Number	Last	First	KUIP	Weight \$/#		Total	Buy Back Price	Buyer
4-0154	Watson	Harlee	840003272277056	1350	\$2.75	\$3,712.50	\$1.75	Peoples Bank, A.W. Graham Lumber, S&B Cattle Co

Peoples Bank PO Box 367 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 S&B Cattle Co 4561 Iron Works Pk, Ste 190 Lexington KY 40511

FEEDER CALVES

Thank You Cards received by FCEO: Staff Initials:_	Date:
Check Received by FCEO: Staff Initials:D	ate:
Student or Parent Signature:	

Pettit, Laura Ann

Feeder Calves										
Numbe r	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer		
5-0156	Pettit	Laura Ann	84000 32524 72839	560	\$8.50	\$4,760.00	\$2.20	Goldie Singh & Family, Camargo Transmission, Cooper Trucking, Ross Davis, Bluegrass Stockyards East, A.W. Graham Lumber, Peoples Bank, The Womack Family, Miller Trucking, Barber & McIntyre, CJ Reed, S&B Cattle Co, Barber Bucher & McIntyre, DeWitt Vet Clinic		

Goldie Singh & Family

Camargo Transmission 2355 Camargo Rd Mt Sterling KY 40353 Cooper Trucking 154 Muse Ln Flemingsburg KY 41041

Ross Davis

Bluegrass Stockyards East PO Box 765 Mt Sterling KY 40353

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

Peoples Bank PO Box 367 Flemingsburg KY 41041

The Womack Family PO Box 22 Flemingsburg KY 41041

Miller Trucking

Barber & McIntyre Livestock 4899 Faulkirk Ln Lexington KY 40533

CJ Reed

S&B Cattle Co 4561 Iron Works Pk, Ste 190 Lexington KY 40511

Barber Bucher & McIntyre 4561 Iron Works Pk Suite 190 Lexington KY 40511

DeWitt Vet Clinic

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Martin, Laken

Feeder Calves									
Numbe r	Last	First	KUIP	Weight	\$/#	Total	Buy Bac Price	k Buyer	
6-0157	Martin	Laken	84000 32524 76959	610	\$5.50	\$3,355.00	\$2.20	Community Trust Bank, Robert L. Conley Livestock, Jill Price Dentistry, IFM, Fleming Mason Energy, Boone-Nickell Funeral Home, Hardy Oil, Fleming County Hospital, McFarland Chevrolet Inc, V&V Catering, Stonegate Rentals, Riverside Plastics, C. Clark Storage	

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041

Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324

Jill Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041

IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039

Fleming Mason Energy PO Box 328 Flemingsburg KY 41041

Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041

Hardy Oil P O Box 507 Irvine KY 40336

Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041

McFarland Chevrolet PO Box 814 Maysville KY 41056

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

Stonegate Rentals 148 Meadowbrook Ct Flemingsburg KY 41041

Riverside Plastics PO Box 421 Flemingsburg KY 41041

C. Clark Storage Cole Clark 640 W Water St Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Florence, Landyn

	Feeder Calves Buy										
Numbe r	Last	First	KUIP	Weigh t	\$/#	Total	Back Price	Buyer			
7-0158	Florenc e	Landy n	84000325247695 5	646	\$3.2 5	\$2,099.5 0	\$2.20	Community Trust Bank, Robert L. Conley Livestock, Jill Price Dentistry, IFM, Fleming Mason Energy, Boone Nickell Funeral Home, Hardy Oil, Fleming County Hospital, McFarland Chevrolet Inc, V&V Catering, Stonegate Rentals, Riverside Plastics, C. Clark Storage			

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041

Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324

Jill Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041

IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039

Fleming Mason Energy PO Box 328 Flemingsburg KY 41041

Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041

Hardy Oil P O Box 507 Irvine KY 40336

Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041

McFarland Chevrolet PO Box 814 Maysville KY 41056

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

Stonegate Rentals 148 Meadowbrook Ct Flemingsburg KY 41041

Riverside Plastics PO Box 421 Flemingsburg KY 41041

C. Clark Storage Cole Clark 640 W Water St Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Bowling, Avah

Feeder Calves										
Number	Last	First	KUIP	Weight	\$/#	Total	Buy Bac	k Price Buyer		
8-0159	Bowling	Avah	840003252476957	648	\$6.00	\$3,888.00	\$2.20	Peoples Bank, A.W. Graham Lumber, Kyler Smith Hay Farms, Big Blue Outdoor, The Womack Family		

Peoples Bank PO Box 367 Flemingsburg KY 41041

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Kyler Smith Hay Farms 1243 Smith Pike Flemingsburg KY 41041

Big Blue Outdoor 2505 KY 11 Flemingsburg KY 41041

The Womack Family PO Box 22 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:	Date:
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		

Fletcher, Brettley

Feeder Calves										
Number	Last	First	KUIP	Weight	\$/#	Total	Buy Ba	ck Price	Buyer	
9-0160	Fletcher	Brettley	840003252476961	626	\$4.25	\$2,660.50	\$2.20	Hinton M Choice Ani Farm Cre America, IFI Meat Packer Appra	mal Clinic, edit Mid M, Fleming rs, Hazelrigg	

Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041
First Choice Animal Clinic PO Box 235 Ewing KY 41039
Farm Credit Mid-America 7112 AA Hwy Maysville KY 41041
IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039
Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041
Hazelrigg Appraisals 1135 Clover Hill Rd Ewing KY 41039

SHEEP

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Shoon	

McCord, Anna

	SHEEP										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
10	McCord	Anna	840003272275764	191	\$5.50	\$1,050.50	\$1.75	M&K Farm, LoCo Farms, Better Than Home LLC, Corbin Equipment Sales			

M&K Farm 1308 Kelley Pk Flemingsburg KY 41041 LoCo Farms 381 Foxwood Dr Richmond KY 40475 Better Than Home LLC 1630 Kelley Pk Flemingsburg KY 41041 Corbin Equipment Sales 130 Kelley Pk Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Sheen	

Sliggh

Hazelrigg, Macie Lynn

	SHEEP									
Sale Order	Last	First	KUIP	Weig ht	\$/#	Total	Buy Back Price	Buyer		
11	Hazelrigg	Macie Lynn	840003272275454	138	\$6.25	\$862.50	\$2.00	Hinton Mills, First Choice Animal Clinic, Farm Credit Mid America, IFM, Fleming Meat Packers, Hazelrigg Appraisals		

Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041 First Choice Animal Clinic PO Box 235 Ewing KY 41039 Farm Credit Mid-America 7112 AA Hwy Maysville KY 41041 IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039 Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041 Hazelrigg Appraisals 1135 Clover Hill Rd Ewing KY 41039

Thank You Cards received by FCEO: Staff Initials	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Shoon	

Sueeh

Carpenter, Danika

				SHEEP				
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
12	Carpenter	Danika	840003272275377	82	\$5.25	\$430.50	\$2.00	Peoples Bank, A.W. Graham Lumber, Triple G Quality Meats

Peoples Bank PO Box 367 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Triple G Quality Meats 137 Maddox Pk Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	::Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Sheen	

Sueeh

Ishmael, Kasen

SHEEP										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer		
13	Ishmael	Kasen	840003272276408	148	\$5.00	\$740.00	\$1.75	Southern States Maysville, Southern States Flemingsburg		

Southern States Maysville PO Box 668 Maysville KY 41056 Southern States Flemingsburg PO Box 167 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
CI	

Campbell, Lucas

	SHEEP										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
14	Campbell	Lucas	840003277276693	157	\$5.75	\$902.75	\$1.75	Southern States Maysville, Southern States Flemingsburg			

Southern States Maysville PO Box 668 Maysville KY 41056 Southern States Flemingsburg PO Box 167 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Ir	nitials:Date:	
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		
Shoon		

Berry, Ryleigh

	SHEEP											
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer				
15	Berry	Ryleigh	840003272275755	117	\$7.00	\$819.00	\$2.00	Hinton Mills, Fleming Meat Packers, First Choice Animal Clinic, IFM, Farm Credit Mid America, Kevin Burton Fencing, Hazelrigg Appraisals				

Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041
Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041
First Choice Animal Clinic PO Box 235 Ewing KY 41039
IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039
Farm Credit Mid-America 7112 AA Hwy Maysville KY 41041
Kevin Burton Fencing 6097 Nepton Rd Ewing KY 41039
Hazelrigg Appraisals 1135 Clover Hill Rd Ewing KY 41039

Thank You Cards received by FCEO: Staff Initials	::Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Choon	

Ishmael, Karter

SHEEP										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back	c Price Buyer		
16	Ishmael	Karter	840003272276410	144	\$5.50	\$792.00	\$1.75	Community Trust Bank, Robert L. Conley Livestock, Jill Price Dentistry, IFM, Fleming Mason Energy, Boone Nickell Funeral Home, Hardy Oil, Fleming County Hospital, McFarland Chevrolet Inc, V&V Catering, Stonegate Rentals, Riverside Plastics, C. Clark Storage		

Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324
Jill Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041
IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039
Fleming Mason Energy PO Box 328 Flemingsburg KY 41041
Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041
Hardy Oil P O Box 507 Irvine KY 40336
Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041
McFarland Chevrolet PO Box 814 Maysville KY 41056
V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

Stonegate Rentals 148 Meadowbrook Ct Flemingsburg KY 41041

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041

Riverside Plastics PO Box 421 Flemingsburg KY 41041

C. Clark Storage Cole Clark 640 W Water St Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff	f Initials:	Date:	
Check Received by FCEO: Staff Initials:	Date:		
Student or Parent Signature:			
Clara a sa			

Carpenter, Skylar

				SHEEP				
Sale Order	Last	First	KUIP	Weight	\$ /#	Total	Buy Back Price	Buyer
17	Carpenter	Skylar	840003272275444	104	\$7.50	\$780.00	\$2.00	Double D Trailer Parks & Service, Marshall Hauling, Yoder's Dinner Bell Market, Burke Farms, Williams Trucking, Esh Enterprises, Fleming Co. Lime Spreading Service

Double D Trailer Parks & Service

Marshall Hauling 1030 Mt Carmel Rd Flemingsburg KY 41041 Yoder's Dinner Bell Market 1532 Maysville Rd Flemingsburg KY 41041

Burke Farms

Williams Trucking 309 Oliver Dr Wallingford KY 41093 Esh Enterprises 1199 Carpenter Rd Wallingford KY 41093 Fleming Co. Lime Spreading Service

Thank You Cards received by FCEO: Staf	f Initials:Dat	:e:
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		

Campbell, Spencer

	SHEEP										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
18	Campbell	Spencer	840003272276687	147	\$6.00	\$882.00	\$1.75	Sarah Campbell			

Sarah Campbell 116 Mt Vernon Rd Wallingford KY 41093

Change	
Student or Parent Signature:	
Check Received by FCEO: Staff Initials:	Date:
Thank You Cards received by FCEO: Staff Initials:	Date:

Hardin, Alec

	SHEEP										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
19	Hardin	Alec	840003272274890	155	\$7.25	\$1,123.75	\$1.75	Farmers Stockyards & Restaurant, S&B Cattle Co, Kyler Smith Hay Farms			

Farmers Stockyards & Restaurant PO Box 308 Flemingsburg KY 41041 S&B Cattle Co 4561 Iron Works Pk, Suite 190 Lexington KY 40511 Kyler Smith Hay Farms 1243 Smith Pike Flemingsburg KY 41041

GOATS

_

Pecco, Samantha

GOATS									
Sale Order	Last	First	KUIP	Weight	\$ /#	Total	Buy Back	c Price Buyer	
20	Pecco	Samantha	840003272275570	91	\$22.00	\$2,002.00	\$2.50	Pattons Seldom Rest Farm, Hutton Funeral Home, Peccos Goody Barn, Paris Stockyards, Fleming Meat Packers, Hinton Mills	

Pattons Seldom Rest Farm

Hutton Funeral Home 634 Hillsboro Rd Hillsboro KY 41049 Peccos Goody Barn 3101 Flemingsburg Rd Morehead KY 40351 Paris Stockyards PO Box 5827 Paris KY 40362 Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041 Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

Mitchell, Maria

GOATS										
Sale Order	Last	First	KUIP	Weight	\$ /#	Total	Buy Back Price	Buyer		
21	Mitchell	Maria	840003272275206	79	\$26.00	\$2,054.00	\$2.50	Mitchell Cabinets, Montgomery Tractor Sales, Monkey Services LLC		

Mitchell Cabinets 147 Buck Smith Rd Hogansville GA 30230 Montgomery Tractor Sales 857 Mt Sterling Rd Flemingsburg KY 41041 Monkey Services LLC

Thank You Cards received by FCEO: Staff Initial	lls:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
•	

Watson, Wyatt

				GOATS					
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Ba	ck Price	Buyer
22	Watson	Wyatt	840003272275039	56	\$11.00	\$616.00	\$2.50	Parks & Marsha Yoder's I Marke Farms, Truck Enterpris Co. Lime	ED Trailer Service, II Hauling, Dinner Bell St, Burke Williams Sing, Esh Ses, Fleming Spreading rvice

Double D Trailer Parks & Service

Marshall Hauling 1030 Mt Carmel Rd Flemingsburg KY 41041 Yoder's Dinner Bell Market 1532 Maysville Rd Flemingsburg KY 41041 Burke Farms

Williams Trucking 309 Oliver Dr Wallingford KY 41093 Esh Enterprises1199 Carpenter Rd Wallingford KY 41093

Fleming Co. Lime Spreading Service

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

McGlone, Makenzie

23	McGlone	Makenzie	840003272275182	56	\$19.00	\$1,064.00	\$2.50	The Womack Family, A.W. Graham Lumber, Triple G Quality Meat

The Womack Family PO Box 22 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Triple G Quality Meat 137 Maddox Pike Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

McGlone, TJ

				GOATS				
Sale Order	Last	First	KUIP	Weight	\$ /#	Total	Buy Back P	rice Buyer
24	McGlone	TJ	840003272274998	81	\$23.00	\$1,863.00	\$2.50	Peoples Bank, A.W. Graham Lumber

Peoples Bank PO Box 367 Flemingsburg KY 41041

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initial	ls:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
Student or Parent Signature:	

McGlone, Maggie

Sale	GOATS Sale Last First KUIP Weight \$/# Total Buy Back Price Buye										
Order 25	McGlone	Maggie	840003272274997	92	\$21.50	\$1,978.00	\$2.50	Community Trust Bank, Robert L. Conley Livestock, Jill Price Dentistry, IFM, Fleming Mason Energy, Boone Nickell Funeral Home, Hardy Oil, Fleming County Hospital, McFarland Chevrolet Inc, V&V Catering, Stonegate Rentals, Riverside Plastics, C. Clark Storage			

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041

Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324

Jill Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041

IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039

Fleming Mason Energy PO Box 328 Flemingsburg KY 41041

Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041

Hardy Oil P O Box 507 Irvine KY 40336

Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041

McFarland Chevrolet PO Box 814 Maysville KY 41056

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

Stonegate Rentals 148 Meadowbrook Ct Flemingsburg KY 41041

Riverside Plastics PO Box 421 Flemingsburg KY 41041

C. Clark Storage Cole Clark 640 W Water St Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

McGlone, Adalynn

	GOATS Buy									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Back Price	Buyer		
26	McGlone	Adalynn	840003 272275 184	55	\$21.00	\$1,155.00	\$2.50	Hinton Mills, First Choice Animal Clinic, Farm Credit Mid America, IFM, Fleming Meat Packers, Hazelrigg Appraisals		

Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041
First Choice Animal Clinic PO Box 235 Ewing KY 41039
Farm Credit Mid-America 7112 AA Hwy Maysville KY 41041
IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039
Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041
Hazelrigg Appraisals 1135 Clover Hill Rd Ewing KY 41039

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Robinson, Ty

	GOATS									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer		
27	Robinson	Ту	84000327227486 6	64	\$20.00	\$1,280.00	\$2.50	Southern States Flemingsburg, Southern States Maysville, Farmers Stockyards & Restaurant, Victoria Cannon Insurance		

Southern States Flemingsburg PO Box 167 Flemingsburg KY 41041 Southern States Maysville PO Box 668 Maysville KY 41056 Farmers Stockyards & Restaurant PO Box 308 Flemingsburg KY 41041 Victoria Cannon Insurance LLC 156 Frazier St Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initial:	s:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

Florence, Caitlyn

	GOATS										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
28	Florence	Caitlyn	84000 32722 76799	109	\$19.00	\$2,071.00	\$2.50	Community Trust Bank, Robert L. Conley Livestock, Jill Price Dentistry, IFM, Fleming Mason Energy, Boone Nickell Funeral Home, Hardy Oil, Fleming County Hospital, McFarland Chevrolet Inc, V&V Catering, Stonegate Rentals, Riverside Plastics, C. Clark Storage			

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041

Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324

Jill Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041

IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039

Fleming Mason Energy PO Box 328 Flemingsburg KY 41041

Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041

Hardy Oil P O Box 507 Irvine KY 40336

Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041

McFarland Chevrolet PO Box 814 Maysville KY 41056

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

Stonegate Rentals 148 Meadowbrook Ct Flemingsburg KY 41041

Riverside Plastics PO Box 421 Flemingsburg KY 41041

C. Clark Storage Cole Clark 640 W Water St Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	

Robinson, Tori

	GOATS										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
27	Robinson	Ту	8400032722 74866	64	\$20.00	\$1,280.00	\$2.50	Southern States Flemingsburg, Southern States Maysville, Farmers Stockyards & Restaurant, Victoria Cannon Insurance			

Southern States Flemingsburg PO Box 167 Flemingsburg KY 41041 Southern States Maysville PO Box 668 Maysville KY 41056 Farmers Stockyards & Restaurant PO Box 308 Flemingsburg KY 41041 Victoria Cannon Insurance LLC 156 Frazier St Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	::Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	

Hawkins, Branson

Sale Order	Last	First	KUIP	GOATS Weigh t	\$/#	Total	Buy Back Price	Buyer
30	Hawkin s	Branso n	84000327227632 5	106	\$28.0 0	\$2,968.0 0	\$2.50	Peoples Bank, A.W. Graham Lumber, S&B Cattle Co, Bluegrass Stockyard s East

Peoples Bank PO Box 367 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 S&B Cattle Co 4561 Iron Works Pk, Suite 190 Lexington KY 40511 Bluegrass Stockyards East PO Box 765 Mt Sterling KY 40353

HOGS

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
1100	

Hog

Reno, Avah

HOG									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer	
31	Reno	Lena	840003272275203	300	\$5.00	\$1,500.00	\$0.60	Camargo Transmission	

Camargo Transmission 2355 Camargo Rd Mt Sterling KY 40353

Thank You Cards received by FCEO: Sta	ff Initials:	_Date:
Check Received by FCEO: Staff Initials:_	Date:	
Student or Parent Signature:		
11		

Litzler, Sadie

	HOG										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
32	Litzler	Sadie	840003272276897	225	\$8.00	\$1,800.00	\$0.60	Peoples Bank, Farmers Stockyards & Restaurant, S&B Cattle Co, A.W. Graham Lumber			

Peoples Bank PO Box 367 Flemingsburg KY 41041 Farmers Stockyards & Restaurant PO Box 308 Flemingsburg KY 41041 S&B Cattle Co 4561 Iron Works Pk, Suite 190 Lexington KY 40511 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
11	

Cooper, Emily

	HOG										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
33	Cooper	Emily	840003272276348	246	\$4.25	\$1,045.50	\$0.60	Farmers Stockyards & Restaurant, A.W. Graham Lumber, Kyler Smith Hay Farms			

Farmers Stockyards & Restaurant PO Box 308 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Kyler Smith Hay Farms 1243 Smith Pike Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
11	

Moran, Talon

	HOG										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
34	Moran	Talon	840003 272275 424	276	\$10.00	\$2,760.00	\$0.60	Flemingsburg Machine, M&M Farms, S&B Cattle Co, Case Brothers Cattle Co, First Choice Animal Clinic, Kyler Smith Hay Farms			

Flemingsburg Machine Shop 236 Cherry Grove Rd Flemingsburg KY 41041 M&M Farms 54 Pecks Ridge Tilton Rd Flemingsburg KY 41041 S&B Cattle Co 4561 Iron Works Pk, Suite 190 Lexington KY 40511 Case Brothers Cattle Co PO Box 108 Flemingsburg KY 41041 First Choice Animal Clinic PO Box 235 Ewing KY 41039 Kyler Smith Hay Farms 1243 Smith Pike Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	::Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
llog	

Bussell, Kayleigh

Sale Order	Last	First	KUIP	Weight	HOG \$/#	Total	Buy Back Price	Buyer
35	Bussell	Kayleigh	8400032 7227519 9	295	\$5.00	\$1,475.00	\$0.60	Community Trust Bank, Robert L. Conley Livestock, Jill Price Dentistry, IFM, Fleming Mason Energy, Boone Nickell Funeral Home, Hardy Oil, Fleming County Hospital, McFarland Chevrolet Inc, V&V Catering, Stonegate Rentals, Riverside Plastics, C. Clark Storage

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041

Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324

Jill Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041

IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039

Fleming Mason Energy PO Box 328 Flemingsburg KY 41041

Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041

Hardy Oil P O Box 507 Irvine KY 40336

Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041

McFarland Chevrolet PO Box 814 Maysville KY 41056

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

Stonegate Rentals 148 Meadowbrook Ct Flemingsburg KY 41041

Riverside Plastics PO Box 421 Flemingsburg KY 41041

C. Clark Storage Cole Clark 640 W Water St Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Цод	

Pease, Laney

	HOG										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
36	Pease	Laney	840003272276501	219	\$7.00	\$1,533.00	\$0.60	Peoples Bank, A.W. Graham Lumber			

Peoples Bank PO Box 367 Flemingsburg KY 41041

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials:	Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
1100	

Sapp, Ryder

	HOG										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
37	Sapp	Ryder	840003272276662	250	\$5.00	\$1,250.00	\$0.60	Hinton Mills, Fleming County Meat Packers, First Choice Animal Clinic, Kentucky Farm Bureau, Emily B Sapp Insurance, IFM, Hazelrigg Appraisals, Farm Credit Mid America, Kyler Smith Hay Farms			

Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041
Fleming Meat Packers 133 Railroad St Flemingsburg KY 41041
First Choice Animal Clinic PO Box 235 Ewing KY 41039
Kentucky Farm Bureau 156 Frazier St Flemingsburg KY 41041
Emily B Sapp Insurance, Kentucky Farm Bureau 156 Frazier St Flemingsburg KY 41041
IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039
Hazelrigg Appraisals 1135 Clover Hill Rd Ewing KY 41039
Farm Credit Mid-America 7112 AA Hwy Maysville KY 41041

Kyler Smith Hay Farms 1243 Smith Pike Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initial:	s:	Date:
Check Received by FCEO: Staff Initials:	_Date:	
Student or Parent Signature:		

Mullholand, Makynlee

					HOG			
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
38	Mullholand	Makynlee	84000 32722 75376	272	\$6.00	\$1,632.00	\$0.60	Double D Trailer Parks & Service, Marshall Hauling, Yoder's Dinner Bell Market, Burke Farms, Williams Trucking, Esh Enterprises, Fleming Co. Lime Spreading Service, Monkey Service LLC

Double D Trailer Parks & Service

Marshall Hauling 1030 Mt Carmel Rd Flemingsburg KY 41041 Yoder's Dinner Bell Market 1532 Maysville Rd Flemingsburg KY 41041

Burke Farms

Williams Trucking 309 Oliver Dr Wallingford KY 41093 Esh Enterprises 1199 Carpenter Rd Wallingford KY 41093

Fleming Co. Lime Spreading Service

Monkey Service LLC

Thank You Cards received by FCEO: Staff In	itials:	Date:
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		
1.1		

Edmond, Megan

				НОС	G			
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer
39	Edmond	Megan	840003 272277 043	300	\$11.50	\$3,450.00	\$0.60	Peoples Bank, A.W. Graham Lumber

Peoples Bank PO Box 367 Flemingsburg KY 41041

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initial	ls:	_Date:
Check Received by FCEO: Staff Initials:	Date:	
Student or Parent Signature:		
11		

Harris, Isaac

	HOG										
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer			
40	Harris	Isaac	840003272274886	300	\$5.00	\$1,500.00	\$0.60	Double D Trailer Parks & Service, Marshall Hauling, Yoder's Dinner Bell Market, Burke Farms, Williams Trucking, Esh Enterprises, Fleming Co. Lime Spreading Service			

Double D Trailer Parks & Service

Marshall Hauling 1030 Mt Carmel Rd Flemingsburg KY 41041 Yoder's Dinner Bell Market 1532 Maysville Rd Flemingsburg KY 41041

Burke Farms

Williams Trucking 309 Oliver Dr Wallingford KY 41093 Esh Enterprises 1199 Carpenter Rd Wallingford KY 41093

Fleming Co. Lime Spreading Service

Thank You Cards received by FCEO: Staff Initial	ls:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
Hog	

Pease, Robert

HOG									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer	
41	Pease	Robert	840003 272276 502	233	\$6.50	\$1,514.50	\$0.60	Peoples Bank, A.W. Graham Lumber, Kyler Smith Hay Farms	

Peoples Bank PO Box 367 Flemingsburg KY 41041 A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Kyler Smith Hay Farms 1243 Smith Pike Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	::Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Цоя	

Perkins, Kooper

	HOG									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer		
42	Perkins	Kooper	840003272276664	240	\$5.50	\$1,320.00	\$0.60	A.W. Graham Lumber, Triple G Quality Meats, Peoples Bank		

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041 Triple G Quality Meats 137 Maddox Pike Flemingsburg KY 41041 Peoples Bank PO Box 367 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Hog	

Fritz, Reagan

HOG									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer	
43	Fritz	Reagan	840003 272276 864	286	\$8.00	\$2,288.00	\$0.60	Peoples Bank, A.W. Graham Lumber, Womack Family, Big Blue Outdoor, The Jerry Cannon Family, Farmers Stockyards & Restaurant	

Peoples Bank PO Box 367 Flemingsburg KY 41041

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

The Womack Family PO Box 22 Flemingsburg KY 41041

Big Blue Outdoor 2505 KY 11 Flemingsburg KY 41041

The Jerry Cannon Family, Kentucky Farm Bureau, 156 Frazier St Flemingsburg KY 41041

Farmers Stockyards & Restaurant PO Box 308 Flemingsburg KY 41041

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	Date:
Student or Parent Signature:	
1.1	

Florence, Hannah

Sale Order	Last	First	KUIP	Weight	HOG \$/#	Total	Buy Back Price	Buyer
44	Florence	Hannah	840003 272277 086	300	\$8.00	\$2,400.00	\$0.60	Community Trust Bank, Robert L. Conley Livestock, Jill Price Dentistry, IFM, Fleming Mason Energy, Boone Nickell Funeral Home, Hardy Oil, Fleming County Hospital, McFarland Chevrolet Inc, V&V Catering, Stonegate Rentals, Riverside Plastics, C. Clark Storage, Cherry Fork Farm Supply

Community Trust Bank 36 Brookhaven Dr Flemingsburg KY 41041

Robert L Conley Livestock 2346 Payne Depot Rd Georgetown KY 40324

Jill Price Dentistry 48 Brookhaven Dr Flemingsburg KY 41041

IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039

Fleming Mason Energy PO Box 328 Flemingsburg KY 41041

Boone-Nickell Funeral Home 150 W Water St Flemingsburg KY 41041

Hardy Oil P O Box 507 Irvine KY 40336

Fleming County Hospital 55 Foundation Dr Flemingsburg KY 41041

McFarland Chevrolet PO Box 814 Maysville KY 41056

V&V Catering 179 Meadowbrook Ct Flemingsburg KY 41041

Stonegate Rentals 148 Meadowbrook Ct Flemingsburg KY 41041

Riverside Plastics PO Box 421 Flemingsburg KY 41041

C. Clark Storage Cole Clark 640 W Water St Flemingsburg KY 41041

Cherry Fork Farm Supply

Thank You Cards received by FCEO: Staff Initials	:Date:
Check Received by FCEO: Staff Initials:	_Date:
Student or Parent Signature:	
Цоя	

Pease, Lucas

нос									
Sale Order	Last	First	KUIP	Weight	\$/#	Total	Buy Back Price	Buyer	
45	Pease	Lucas	840003272276503	280	\$8.00	\$2,240.00	\$0.60	Peoples Bank, Hinton Mills, A.W. Graham Lumber, Womack Family, IFM	

Peoples Bank PO Box 367 Flemingsburg KY 41041

Hinton Mills 1724 Maysville Rd Flemingsburg KY 41041

A.W. Graham Lumber 137 Maddox Pike Flemingsburg KY 41041

The Womack Family PO Box 22 Flemingsburg KY 41041

IFM (Industrial Field Maintenance) - Stephen Story 3331 Elizaville Rd Ewing KY 41039